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CHENGALPATTY ~ bo3002

COMMON QUARTERLY EXAMINATION -2024

* - Standard X| - Reg.No.
_ MATH.EMATICS
Time : 3.00 hrs x Part-| : . Marks : 90
. = Choose the correct answer: : gt © . 20x1=20
1. Therule f(x) = x2 is a bijection if the domain and the co-domain are glven by
a) R R b) R, (0, ) c) (0, »),R d) (0, =), [0, =)
2. LetR be the universal relation on a set x with more than one element. Then R is
a) notreflexive -b) not symmetric c) transitive d) none of the abbve
3. Ifn(A)=2and n(B'U C) = 3, then n[(A x B) U (Ax C)] is RN
a) 23 . b) 32 66 C L) 5
4. Thesolution of 5x—1<24and 5x +1>-24is
a) (4.5) b) (~5.4) ©) (=55 d)(-54)
5. - lfaandbare the real roots of the equatlon x2—kx+c= 0,‘thén the distance between
thepomts(aO)and(bO)ls it e SN it B
) o b Jalc ©) Yac-kZ2  d) Jk-gc
6. Thevalueoflog,blog,clogais : S
a) 2 by 1 c)y*3.. dy4 -
7. The maximum value of 4sin?x+3cos”x+ sin§'+ .cds-;— is |
a) 4++2 b) 34+.2 .08 R d) 4
8. Which of the following is not true? .- by oyl .
a) .siM=-%  b) cos0=25 c) tan0= 1Y, d) sec0=-1
9. Iff(6) = [sin@| + |cos6|, 0 € R, then f(0) is in the interval | :
- a) [0.2] b) 2] o (2 4]
10. A wheel is spinning at 2 radian / second. How mahy seconds will it take fo make 10
"~ complete rotations? RO : |
a) 10m seconds b) 20n seconds c) 5w seconds d) 15n seconds
11. In 3 fingers, the number of ways four rings can be wornis _ ways.
‘a) 43-1 b)- 34 c) 68 d) 64
12.

There are 10 points in a plane and 4 of them are collinear. The number of stralght llnes
joining any two points o K | : o
a) 45 .b) 40 ‘ c) 39° d) 38
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2 458, | Xl Maths
Number of sides of a polygon having 44 diagonals is ‘
a) 4 b) 4| c) 1 - d) 22
1+3+5+7+ ... + 19 is equal to A
a) 100 b) 81 _ c) 71 d) 61
If a is the arithmetic mean and g is the geometnc mean of two numbers, then
a) a<g ~ b) azg c) a=g.. da>g
The remainder when 3815 is divided by 13 is
a) 12 b) 1 ' - c)y 1" d)5

The sum of an infinite G.P is 18. If the first term is 6, the common ratio is

) % b % o % 9%

Which of the following point lie on the locus of 3x2 + 3y2— 8x — 12y + 17 = 0

a) (0,0) b) (-2,3) e (1,2) . dy©-1)
The image of the point (2,3) in the liney = X is :
a) (—3—2) . b) (-3, 2) : c) (-2-3) ., d (3 2)

ifavertexofa square. is at the originand |ts one side lies along the Ilne 4x+3 y—20=0,

then the area of the square is

“-a) 20 sq.units b) 16 sq.units c) 25 sq. untts d) 4 sq.uﬁits

Part Il

Answer any 7 questlons (Q.No.30i is compulsory) : _' e 7x2=14
Let A = {a,b,c}. What is the equivalence relation of smallest cardmahty on A? What is

the equivalence relation of largest cardinality on A?
Solve : |5x - 12| < -2 |

Evaluate : {((255) }é) %]

Find the value of sin(765°)

1+tanA
tanl45° + A )=
Show that an( + ) 1—tanA.

1 1 A
If =1% 31" a1 then find the value of A,
Evaluate the following : i) 10C; . i) 100Ggq

Find the middle term in the expansion of (x + y)8

Write the first 6 terms of the exponential series &2
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3 it XI Maths
Find the perpencjicular distance from the origin to the line x +y = 1
| “Part - II |
Answer any 7 questions. (Q.No.40 Is compulsory) ' 7x3=21

Letf, g : R — R be defined as f(x) = 2x — |x| and g(x) = 2x + || Find fog.
Resolve into partial fractions : (x+3)(x-4) +3xx_ 2) - |
If o and B are the roots of the quadratic equation’ x2 ; J3x 4+ 3 = 0, form a quadratic

polynomial with z’efps %.

=| =

sin75° —sin15° . -
Show that 5 Snibiz gty
cos75° + cos15° J—?:

Find the éistinct permutations of the letters of the word MISSISSIPPI.
Prove that 10C, + 2(10C,) + 10C, = 12C,

Write the first 6 terms of the sequences whose nth term is 20 =9 2 =2

: an-1+ap-2 , if n>2
Compute the sum of first n terms of the following series : |
6 + 66 + 666 + 6666 + ......... '

-1
Show the po:nts (0 ——) (1,-1) and ( )are collmear -

-1\/— ' Do

Find the value of - tan™'/3 +cos

Part IV |
Answer all the questions. s . ks By
a) Write the values of f at —4, 1, -2, 7f0if .

(-x+4 if _wzx<-3
x+4 if -3<x<-2
fx)={x2-x if -2sx<1
o |x=x% if 1sx<7

0 otherwise

" (OR)
b) IfA+ B = 45°, show that (1 + tanA) (1 + tanB) = 2

Kindly Send Me Your Key Answer to Our email id - Padasalai.net@gmail.com


https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m
https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m

42.

43.

45.

~ 46.

47,

a

S

b)

b)

www.Padasalai.Net www.Trb Tnpsc.Com

4 Xl Maths

If +2C, : (-1p, =13 24, find n.
(OR)

‘ ' o 2x-3
Find all values of xthatsatisfes the |nequal|ty ‘(—’7(““‘5)( 2) (x4 <0

The slope of one of the stralght lines ax2 + 2hxy + by2 =0is twuce that of other, ‘
show that 8h2 = Qab. ‘

(OR)
By the principle of mathematlcal induction, prove that, for all integersn = 1
12 +22 +3%2 4. + ___________n(n+1)(2n+1)- :

6
1foAhas 16 elements S={(a,b) e AxA a<b}, (- 1 ,2)and (0, 1) are two elements

_of S, then find the remaining eIements of S.

b)

(OR) »
If the equatlon AxZ ~ 10xy + 12y2 + 5x - 16y -3 =0 represents a pair of straxght
lines, then find the value o_f A and the separate equations of the.lines.

If log,x +log,x + loggx = —;— , find the value of x.

| (OR) ,
Find the equations of parallel line and perpendiCuiar line pa’ssing through:the point
(1,2)tothe line 3x + 4y =7 ' : : :

C 1 ‘ :
Prove that ,st +7- Jx +4 8 approx1mately equal to —7 whenx is large.

(OR) '
IfA+B+ C=180°, prove that sm2A + sin2B + sin2C = 4 sinA sinB smC

)
Find the co-efficient of x2 and the co-efficient of x8 in (x - —1-)

x3
(OR)
Find the largest possuble domam for the real valued function given by

9-x2.

x2 -1

f(x)=

LA 2 A2 2]

¢
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